Chemistry 221 

Worksheet #1


Oregon State University

Welcome to Chemistry 221 Recitation

Solve the worksheet problems using any resources available (resources include your textbook, notes, each other, and to a degree your Teaching Assistant). 

While this work will not be collected, clearly show your work on your own notebook paper. This will enable you to communicate your thinking to others and generate a study aid.  Clearly showing your work will also assist in organization.

Work through as many problems as time permits. You are encouraged to finish problems before the next recitation meeting. You are also encouraged to meet with your peers outside of scheduled class time to discuss the problems.

1. Give the name of each of the following elements:

(a) Rb

(b) Ir

(c) Po

(d) Ga

(e) Xe

(f) Ba

2. Give the symbol for each of the following elements:

(a) Hafnium
(b) Tellurium

(c) Lead

(d) Iron

3. In each of the following pairs, decide which is an element and which is a compound.

(a) CsI and Cs

(b) glucose and graphite
(c) silver and silver chloride
4. In each case, decide whether the underlined property is a physical or chemical property.

(a) The normal color of elemental iodine (I2) is purple.

(b) Iron turns to rust in the presence of air and water.

(c) A hydrogen balloon can explode when ignited.

(d) The density of liquid mercury at room temperature is 13.534 g / cm3
(e) The boiling point of elemental bromine (Br2) is 332 K.

5. Iron pyrite (FeS2; see image below) is often called “fool’s gold” because it looks like gold.
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Suppose you have a solid that looks like gold, but you believe it to be fool’s gold. The sample has a mass of 23.5 g. When the sample is lowered into the water in a graduated cylinder, the water level rises from 47.5 mL to 52.2 mL. Is the sample fool’s gold (d = 5.00 g / cm3) or “real” gold (d = 19.3 g /cm3)? 

1 cm3 = 1 mL

6. The temperature on the surface of the sun is 9932 °F. What is this temperature in (a) Celsius and (b) Kelvins? 

°C = (°F – 32) / 1.8
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